Energy

°Kinetic Energy (K) - Energy of Motion
Potential Energy (P) — Stored up Energy

“Total Energy (T)- Kinetic plus Potential Energy

2

UCI - Focus -1




Energy

*Kinetic Energy (K)- Energy of Motion

Which ball has
Kinetic Energy?

UCI - Focus -2



Energy

*Kinetic Energy (K)- Energy of Motion

- o

No Kinetic Energy | -

Kinetic Energy | !

UCI - Focus -3



Energy

*Kinetic Energy (K)- Energy of Motion

Which ball has more
Kinetic Energy?

UCI - Focus -4



Energy

*Kinetic Energy (K)- Energy of Motion

Less Kinetic Energy |

a——

More Kinetic Energy | !

UCI - Focus -5



Energy

*Kinetic Energy (K)- Energy of Motion
K=1/2 mv”™2

a——

Less Kinetic Energy |

a——

More Kinetic Energy | !

If the lower ball is moving twice as fast, how
much more kinetic energy does it have?

UCI - Focus -6



Energy

*Kinetic Energy (K)- Energy of Motion

Which ball has more
Kinetic Energy?

UCI - Focus -7



Energy

*Kinetic Energy (K)- Energy of Motion

Less Kinetic Energy | }

More Kinetic Energy

UCI - Focus -8



Energy

Potential Energy (P)- Stored up Energy
Potential Energy

Potential Energy

Potential Energy

Potential Energy

Potential Energy

UCI - Focus -9



Energy
Potential Energy (P)- Stored up Energy

Which ball has
more Potential Energy (P)?

- h=2

P=Wh
W =10 W=1
— I
P=7 P="

UCI - Focus -10



Energy
Potential Energy (P)- Stored up Energy

Which ball has
more Potential Energy (P)?

- h=2

P=Wh
W =10 W=1
- -
P=20 P=2

UCI - Focus -11



Energy

‘Total Energy - Kinetic plus Potential Energy

UCI - Focus

.......................................

..........................................

Yelocity of Bob (mds)

||

ziH || 0.000m s

-12




Energy

‘Total Energy - Kinetic plus Potential Energy

i .

FE

I Hy z.000m

w [ Velocity of Bob (mis)

......... b EEE 0,000 i é'z

m

T (at top) T (at bottom)
P+ K = P+ K
100+ 0 = 247

UCI - Focus -13



Energy

‘Total Energy - Kinetic plus Potential Energy

i .

FER

I Hy z.000m

w [ Velocity of Bob (mis)
.............. S S -1 : MY
||

.......................................

0.000 =

T (at top)
P+ K

100+ O

T (at bottom)

o
o T

UCI - Focus -14



Stop

UCI - Focus -15
- -+




Energy

‘Total Energy - Kinetic plus Potential Energy

UCI - Focus -16

L% |
m=—= ——— —
TOtalinitial = TOtalfinal
i 0
(P +}€)initia1 - (P +/lz)final



Energy

‘Total Energy - Kinetic plus Potential Energy

KE

(o~ |

Height =720 m Speed = 0.0 m/s

Loop - The - Loop

Where to Start?

UCI - Focus -17



Energy

‘Total Energy - Kinetic plus Potential Energy

The Bomb!

UCI - Focus -18



Energy

*Kinetic Energy - ???

UCI - Focus -19



Energy

*Kinetic Energy - Energy of Motion

Potential Energy - 2??

UCI - Focus -20



Energy

*Kinetic Energy - Energy of Motion
sPotential Energy - Stored up Energy

*Total Energy - 2??

UCI - Focus -21



Energy

*Kinetic Energy - Energy of Motion
sPotential Energy - Stored up Energy

“Total Energy - Kinetic plus Potential Energy

UCI - Focus -22



UCI - Focus -23

3 L




